## **ORDINANCE NO. 51-23**

AN ORDINANCE AUTHORIZING THE CITY MANAGER TO ACCEPT A CHANGE ORDER FOR THE CONNEAUT CREEK DREDGE RECLAMATION FACILITY, ATTACHED HERETO AND MARKED "CHANGE ORDER NO. 1" AND DECLARING AN EMERGENCY.

BE IT ORDAINED, by the City of Conneaut, County of Ashtabula and State of Ohio:

SECTION 1. That the City Manager, on behalf of the City of Conneaut, is hereby authorized to accept a change order for the Conneaut Creek Dredge Reclamation Facility, attached hereto and marked "Change Order No. 1".

SECTION 2. That it is hereby found and determined that all formal actions of this Council concerning and relating to the passage of this ordinance were adopted in an open meeting of this Council and that all deliberations of this Council or any of its committees that resulted in such formal actions were in meetings open to the public, in compliance with all legal requirements including Section 121.22 of the Ohio Revised Code.

SECTION 3. This Ordinance is declared to be an emergency measure in the interests of public peace, health and safety, and to allow work to continue on the Project, and if approved, shall take effect immediately upon passage.

Passed this 874 day of MAY, 2023.

President of Counci

ATTEST:

	CHAN	IGE ORDER NO.:	1	DATE: 4/4/2023				
PROJECT NAME:	Conneaut Creek Dred	ge Reclamation Fac	sility					
OWNER:	City of Conneaut		****					
CONTRACTOR:	Independence Excava	ating, Inc.						
PROJECT NO.:	180703							
DESCRIPTION:		of 12"-18" in various	areas with locations and	grade materail with quiuck lime d depths being				
CONTRACT PRICE:								
ORIGINAL CONTR NET PRIOR CHAN CURRENT CONTR NET AMOUNT THI REVISED CONTRA	GE ORDERS: RACT PRICE: S CHANGE ORDER:	\$11,470,000.00 \$0.00 \$11,470,000.00 \$1,600,000.00 \$13,070,000.00						
CONTRACT TIME:								
CONTRACT DATA ORIGINAL COM CURRENT COM AMOUNT OF TII REVISED COMF	PLETION DATE: PLETION DATE: ME EXTENSION:	10/11/2022 7/31/2023 7/31/2023 0 7/31/2023						
ACCEPTED BY:		4/11/2623		APPROVALS:				
Daniel Weimer, Project Manager Independence Excavating, Inc.		DATE	James E. Hockaday City Manager	DATE				
APPROVAL RECOMMENDED BY:								
Clest	2	4/12/2023						
Christian DeLuca, Project Manager DATE CT Consultants, Inc.								

OWNER: City of Conneaut Creek Dredge Reclamation Facility

Change Order No.: 1 PROJECT NO.: 180703 DATE: 4/4/2023

PROJECT: Conneaut Creek Dredge Reclamation Facility

REF.	ODOT		CONTRACT		11817	EVERNOED	TOTAL		NET CHANGE	
NO.	NO.	•			UNIT	EXTENDED	OTY	\$	QTY CH.	
		Clearing and Grubbing	QTY	UNIT	PRICE	TOTALS	QTY			\$ /\$20,000,0
1			1.00	LS	\$30,000.00	\$30,000.00		\$0.00	(1.00)	(\$30,000.0
2		Remove Concrete Support Columns and Foundations	1.00	LS	\$10,000.00	\$10,000.00		\$0.00	(1.00)	(\$10,000.0
		Remove Foundations from Prior Building or Conveyor Belt								
3		Systems	1.00	LS	\$5,000.00	\$5,000.00		\$0.00	(1.00)	(\$5,000.0
4		Disassemble and Remove Yard Light Tower	1.00	LS	\$2,000.00	\$2,000.00		\$0.00	(1.00)	(\$2,000.0
5		Remove Foundations from Yard Light Tower	1.00	LS	\$2,000.00	\$2,000.00		\$0.00	(1.00)	(\$2,000.0
6	The second second	Remove Concrete Barriers and Debris Piles	1.00	LS	\$1,500.00	\$1,500.00		\$0.00	(1.00)	(\$1,500.0
7		Subgrade Compaction	181,832.00	SY	\$1.25	\$227,290.00		\$0.00	(181,832.00)	(\$227,290.0
8		Excavation Including Embankment (In-Situ Soil)	1.00	LS	\$609,458.04	\$609,458.04		\$0.00	(1.00)	(\$609,458.0
9		Borrow (Clay Cap Liner)	108,335.00	CY		\$2,816,710.00		\$0.00	(108,335.00)	(\$2,816,710.0
10		Borrow (Sluiceway and Containment Berms)	167,490.00	CY		\$2,344,860.00		\$0.00	(167,490.00)	(\$2,344,860.0
11		Construction Exit	1.00	EA	\$7,000.00	\$7,000.00		\$0.00	(1.00)	(\$7,000.0
12	And the same of the same	Silt Fence	7,400.00	FT	\$3.00	\$22,200.00		\$0.00	(7,400.00)	(\$22,200.0
13		Filter Sock	1,850.00	FT	\$3.50	\$6,475.00		\$0.00	(1,850.00)	(\$6,475.
14		Concrete Washout Pit	2.00	EA	\$1,200.00	\$2,400.00		\$0.00	(2.00)	(\$2,400.
15		Seeding and Mulching, Class 6, Temporary Erosion Control	38.00	AC	\$2,250.00	\$85,500.00		\$0.00	(38.00)	(\$85,500.
16		Erosion Control Mat, Contingency	1,400.00	SY	\$1.00	\$1,400.00		\$0.00	(1,400.00)	(\$1,400.
17		Sediment Trap	8.00	EA	\$1,000.00	\$8,000.00		\$0.00	(8.00)	(\$8,000.
18		Water (Dust Control)	630.00		\$175.00	\$110,250.00		\$0.00	(630.00)	(\$110,250.
19		Calcium Chloride	3.00	TON	\$500.00	\$1,500.00		\$0.00	(3.00)	(\$1,500.
20		Temporary Sediment and Erosion Control	50,000.00	EA	\$1.00	\$50,000.00		\$0.00	(50,000.00)	(\$50,000.
21	832	Storm Water Pollution Prevention Plan	1.00	LS	\$35,000.00	\$35,000.00		\$0.00	(1.00)	(\$35,000.
22		Rock Channel Protection, Type C with Filter	43.00	CY	\$125.00	\$5,375.00		\$0.00	(43.00)	(\$5,375.
23	601	Rock Channel Protection, Type D without Filter	5,963.00	CY	\$75.00	\$447,225.00		\$0.00	(5,963.00)	(\$447,225.
24		Drainage Sump Basin, 2'x2'	4.00	EA	\$1,500.00	\$6,000.00		\$0.00	(4.00)	(\$6,000.
25	611	Inlet Structure #1 and Appurtenances	1.00	EA	\$135,000.00	\$135,000.00		\$0.00	(1.00)	(\$135,000.
26		Outlet Structure #2 and Appurtenances	1.00	EA	\$20,000.00	\$20,000.00		\$0.00	(1.00)	(\$20,000.
27	SPCL	Bridge Walkway and Foundation	1.00	EA	\$35,000.00	\$35,000.00		\$0.00	(1.00)	(\$35,000.
28		Headwall (6" Pipe)	1.00	EA	\$2,500.00	\$2,500.00		\$0.00	(1.00)	(\$2,500.
		6" DIPS HDPE DR 21 Pipe, Fusion Joints and Mechanical								
29		Fittings	1,535.00	FT	\$38.00	\$58,330.00		\$0.00	(1,535.00)	(\$58,330.
30	611	18" Conduit, Type B, 707.33 (HDPE)	188.00	FT	\$90.00	\$16,920.00		\$0.00	(188.00)	(\$16,920.
		18" DIPS HDPE DR 11 Pipe, Fusion Joints and Mechanical								
31		Fittings	864.00	FT	\$110.00	\$95,040.00		\$0.00	(864.00)	(\$95,040.
32		6" Quick Couple Connection with Cap	4.00	EA	\$3,000.00	\$12,000.00		\$0.00	(4.00)	(\$12,000.
33		6" Plug Valve	4.00	EA	\$3,000.00	\$12,000.00		\$0.00	(4.00)	(\$12,000.
34	638	6" Plug Valve and Valve Box	1.00	EA	\$5,000.00	\$5,000.00		\$0.00	(1.00)	(\$5,000.
35		18" Flexible Check Valve	2.00	EA	\$11,458.23	\$22,916.46		\$0.00	(2.00)	(\$22,916.
36		4" Crushed Limestone Aggregate Base	3,714.00	CY	\$85.00	\$315,690.00		\$0.00	(3,714.00)	(\$315,690.
37		6" Crushed Limestone Aggregate Base	11.00	CY	\$96.00	\$1,056.00		\$0.00	(11.00)	(\$1,056.
38	304	8" Crushed Limestone Aggregate Base	1,777.00	CY	\$80.00	\$142,160.00		\$0.00	(1,777.00)	(\$142,160.
39		3" Crushed Limestone, No. 57 Aggregate	2,787.00	CY	\$75.00	\$209,025.00		\$0.00	(2,787.00)	(\$209,025
40	****	Proof Rolling	20.00	HR	\$150.00	\$3,000.00		\$0.00	(20.00)	(\$3,000
41		12" Crushed Limestone, No. 1 & 2 Aggregate	11,129.00	CY	\$80.00	\$890,320.00		\$0.00	(11,129.00)	(\$890,320
12		Geotextile Fabric, Mirafi HP 270	49,140.00	SY	\$2.00	\$98,280.00		\$0.00	(49,140.00)	(\$98,280.
43	THE RESIDENCE OF THE PARTY OF T	Geotextile Fabric, Mirafi RS380i	8,632.00	SY	\$5.00	\$43,160.00		\$0.00	(8,632.00)	(\$43,160.

OWNER: City of Conneaut Change Order No.: 1 PROJECT NO.: 180703 DATE: 4/4/2023

PROJECT: Conneaut Creek Dredge Reclamation Facility

	ODOT						TOTAL		NET	
REF.	ITEM		CONTRACT		UNIT	EXTENDED			Market State Str. Belleville	ANGE
١٥.	NO.	DESCRIPTION	QTY	UNIT	PRICE	TOTALS	QTY	\$	QTY	\$
14	and the state of the state of	8" Reinforced Concrete Pavement, Class QC1	368.00	SY	\$115.00	\$42,320.00		\$0.00	(368.00)	(\$42,320.0
15		5" Concrete Walk	663.00	SF	\$15.00	\$9,945.00		\$0.00	(663.00)	(\$9,945.0
6	608	Concrete Steps, Type A, As Per Plan	1.00	LS	\$13,000.00	\$13,000.00		\$0.00	(1.00)	(\$13,000.0
17	630	Ground Mounted Support, No. 2 Post, U-Channel	54.00	FT	\$25.00	\$1,350.00		\$0.00	(54.00)	(\$1,350.0
8	630	Sign, Misc.	5.00	EA	\$500.00	\$2,500.00		\$0.00	(5.00)	(\$2,500.0
19	653	Topsoil Furnished and Placed	3,267.00	CY	\$20.00	\$65,340.00		\$0.00	(3,267.00)	(\$65,340.0
0	659	Commercial Fertilizer	1.00	TON	\$775.00	\$775.00		\$0.00	(1.00)	(\$775.0
1	659	Seeding and Mulching, Class 1	29,406.00	SY	\$0.50	\$14,703.00		\$0.00	(29,406.00)	(\$14,703.0
2	659	Water	20.00	MGAL	\$1.00	\$20.00		\$0.00	(20.00)	(\$20.0
53	659	Mowing	264,650.00	SF	\$0.01	\$2,646.50		\$0.00	(264,650.00)	(\$2,646.5
54	SPCL	Bollard, Steel	15.00	EA	\$500.00	\$7,500.00		\$0.00	(15.00)	(\$7,500.0
55	607	Fence, Type Chain-Link	30.00	FT	\$60.00	\$1,800.00		\$0.00	(30.00)	(\$1,800.0
6	SPCL	Orange Construction Fence	163,000.00	SY	\$1.00	\$163,000.00		\$0.00	(163,000.00)	(\$163,000.0
7	SPCL	Concrete Pipe Support with Base	2.00	EA	\$1,700.00	\$3,400.00		\$0.00	(2.00)	(\$3,400.0
8		Concrete Pipe Support and Strip Base	12.00	EA	\$1,000.00	\$12,000.00		\$0.00	(12.00)	(\$12,000.0
9	SPCL	Trench Dam	2.00	EA	\$325.00	\$650.00		\$0.00	(2.00)	(\$650.0
0	SPCL	Trailer Mounted Portable Pump	2.00	EA	\$35,000.00	\$70,000.00		\$0.00	(2.00)	(\$70,000.0
1	619	Field Office, Type A	12.00	MNTH	\$1,500.00	\$18,000.00		\$0.00	(12.00)	(\$18,000.0
2	SPCL	Special Worker Protection Measures	1.00	LS	\$10.00	\$10.00		\$0.00	(1.00)	(\$10.0
3	SPCL	Special Worker Orientation Courses and ID Badges	1.00	LS	\$5,500.00	\$5,500.00		\$0.00	(1.00)	(\$5,500.0
64	SPCL	Bonds and Insurances	1.00	LS	\$350,000.00	\$350,000.00		\$0.00	(1.00)	(\$350,000.0
55	624	Mobilization	1.00	LS	\$650,000.00	\$650,000.00		\$0.00	(1.00)	(\$650,000.0
66		Marking of Private Utilities	1.00	LS	\$15,000.00	\$15,000.00		\$0.00	(1.00)	(\$15,000.0
57		Preconstruction Video Documentation	1.00	LS	\$5,000.00	\$5,000.00		\$0.00	(1.00)	(\$5,000.0
8	614	Maintaining Traffic	1.00	LS	\$150,000.00	\$150,000.00		\$0.00	(1.00)	(\$150,000.0
9	623	Construction Layout Stakes and Surveying	1.00	LS	\$85,000.00	\$85,000.00		\$0.00	(1.00)	(\$85,000.0
70		Inspection and Material Testing	1.00	LS	\$65,000.00	\$65,000.00		\$0.00	(1.00)	(\$65,000.0
71		Railroad Crossing Maintenance Allowance	1.00	LS	\$50,000.00	\$50,000.00		\$0.00	(1.00)	(\$50,000.0
		Railyard Route Maintenance Allowance: Excavation of								
72	SPCL	Subbase	500.00	CY	\$7.00	\$3,500.00		\$0.00	(500.00)	(\$3,500.0
		Railyard Route Maintenance Allowance: Crushed Limestone								
73	304	Aggregate Base	500.00	CY	\$65.00	\$32,500.00		\$0.00	(500.00)	(\$32,500.0
4		Site Preparation Allowance: Excavation of Subgrade	5,000.00	CY	\$20.00	\$100,000.00		\$0.00	(5,000.00)	(\$100,000.0
		Site Preparation Allowance: Crushed Limestone Aggregate		-						
75	304	Base	5,000.00	CY	\$95.00	\$475,000.00		\$0.00	(5,000.00)	(\$475,000.0
76		Flagger at Railroad Crossing Allowance Change Order #1	1.00	LS	\$100,000.00	\$100,000.00		\$0.00	(1.00)	(\$100,000.0
co	SPCL	Subgrade Stabilization	1.00	LS	\$1,600,000.00	\$1,600,000.00		\$0.00	(1.00)	(\$1,600,000.0
		TOTALS	1			\$13,070,000.00		\$0.00		(\$13,070,000.